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(3x + 6y) — (5x — 2y) 3 > T H&IETT
=3x+ 6y — 5x+ 2y
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= —4x+ 2y + 8x — 5y
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= —4x + 8x + 2y — 5y
=4x — 3y
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[1] koOKXOFHEEZ £ & O THEIC LA SV,

(1) x*+6x+2x*-3x
=x? +2x* +6x—3x
—(1+2)22 +(6-3)x
=3x%+3x

[2] ROFEHHEEZ LS,

(1) (2x+y)+(5x+6y)
=2x+y+5x+6y
=2x+5x+y+6y
=Tx+7y

(3) (2x+4y)+(10x—6y)
=-2x+4y+10x-6y
=—-2x+10x+4y—-6y
=8x—2y

[3] woitsiz Ly,

(1) (4x+7y)-(3x+y)
=4x+7y-3x—-y
=4x-3x+7y—-y
=x+6y

(3) (6a—2b)—(-3a+4b)
=6a—-2b+3a—-4b
=6a+3a-2b—-4b
=9a—-6b

(2) 2x+4xy—Tx—2xy
=2x—-Tx+4xy—2xy
2(2—7)x+(4—2)xy
=-5x+2xy

(2) (3a—4b)+(-2a+7b)
=3a—-4b—-2a+7b
=3a—-2a—-4b+7b
=a+3b

(4) (5x* +4x—-2)+(x* —3x+1)
=5x" +4x—2+x" —3x+1
=5x> +x> +4x—-3x-2+1

—6x*+x—1

(2) (2x+5y)—(4x-3y)
=2x+5y—4x+3y
=2x—-4x+5y+3y
=—2x+8y

(4) (¥*—2x-3)—(6x" —4x+1)

=x’—2x-3-6x+4x-1
=x"—6x"—2x+4x-3-1

2
= —Sx + 2)(,' — 4 [B5U009 RUJL] http://happylilac.net/syogaku.html



